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7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 430 53.73 | =nRS | 000 ~ 4350 1.99 10.05 ThLst 1.00 | 5.00 ~ 56.00 53.73 | #hLH | 5.00 ~ 6.00| 1.99 10.05
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.30 79.21 | #nSY | 000 ~ 630 2.05 10.35 FnLsn 1.00 | 5.00 ~ 880 79.21 | 0SS | 6,00 ~ 880 2.05 10.35
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 0.00 ~ 5.90 73.88 | LS | 0oo ~ 590|207 10.45 st 1.00 | .00 ~ 816 73.88 | ThS | 6.00 ~ 816|207 10.45
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 6.89 87.23 | #nS | 000 ~ 689 | 1.85 9.33 ThLst 1.00 | 5.00 ~ 864 87.23 | #hH | 5,00 ~ 864 | 1.85 9.33
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 752 96.15 | #nS | 000 ~ 0.00| 1.76 8.92 ThList 1.00 | .00 ~ 987 96.15 | =hH | 5,00 ~ 987 | 1.76 892
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 0.00 ~ 6.62 83.65 | =ns | 000 ~ 662 1.98 10.03 FnLsn 1.00 | 6.00 ~ 891 83.65 | #nLS | 5,00 ~ 891 1.98 10.03
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | 0.00 ~ 6.37 80.17 | =nst | 000 ~ 637 1.93 9.76 ZhLst 1.00 | 6.00 ~ 804 80.17 | #nLst | .00 ~ 804 1.93 976
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThnLst 1.00 | 0.00 ~ 5.62 70.26 | ThSY | 000 ~ 562|201 10.18 FhLst 1.00 | 6.00 ~ 7.21 70.26 | =nSY | 6.00 ~ 721201 10.18
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
st 1.00 | 0.00 ~ 4.30 53.71 | =ns | 000 ~ 430 2.16 10.92 FhLst 1.00 | 6.00 ~ 6.00 5371 | #hLS | 5,00 ~ 6.00)| 216 10.92
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
ThLlst 1.00 1 0.00 ~ 4.76 59.35 | #nst | 0oo ~ o000 1.77 8.92 FhLst 1.00 | 6.00 ~ 5.00 59.35 | #nLs | 5,00 ~ 500\ 1.77 892
11 100kN/ Mm% Z 5 — - ~ — — |3mEBZRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FHEZ 5 - ~ — — —
st 1.00 | 000 ~ 489 60.89 | =4t | 0oo ~ 000\ 1.567 7.91 FhLst 1.00 | 6.00 ~ b6.66 60.89 | NS | 6.00 ~ 5665 | 1.57 7.91
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




